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General Instructions :-
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Use of Calculator is no? permitted.
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Question No. 1 has three pagss, [n Part (A) Multiple choice
questions, in Part (B) Fill in the blanks and in Part (C) Write
true / false are given. Each question carries 1 mark.
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Question No. 2 to 6 are very short answer type questions. Each
question carries 2 marks.
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Question No. 7 to 10 are very short answer type questions. Each
question carries 3 marks,
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Question No. 11 to 14 are short answer type questions. Each
question has an internal choice. Each question carries 4 marks.
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Question No. 15 and 16 are short answer type questions. Each
question has an internal choice. Each question carries 5 marks.

(viii) T FHIE 17 T 18 -3ty 3o & wedah e & e e

_M .

AE TA G 6 He Arafea §

Question No. 17 and 18 are long answer type questions. Each
question has an internal choice. Each question carries 6 marks.
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(Part — A) Choose and Write the correct option:
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(ii)

¥ wefter x” - 5X+6 = 0 3 it 1 Ao APTI-
&0 6 @ -5

@ s @) 30

Sum of roots of Quadratic equation

x2 —5x +6=0 will be:

@ 6 (b) -5

(c) 5 - (d) 30

Wﬁsin@m%’@,?ﬁ&ﬂmm:
(3 30° @ 45
@  60° @ %
If sin® = % then the value of & will be:

(8 30° (b) 45°
(c) 60° @ .90°

@ 12 @ 8
@ 4 @ 16

The number of space diagonals of the cube is:
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(Part - B) Fill in the blanks:

®

(i)
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@) (4,4) @ (4,4)
) (4,9 @ 49

Zeros of polynomial x?_16 are:

(@) 4,4 (b) (4,4)
) 4,49 . (d) 4,0

 WEWT y=-Tx +6 @ B

) 6 @ -7

@ 6 @ 7

Slope of the straight line y =~7x + 6 will be:
(a) 6 (b) -7

€ -6 @7

[115=5]

cosec(90-0) FAM __ &m
Value of cosec(90 —8) will be

Rt & e 1o ht ¥ e omm By

The radius of any circle is 10 cm. Then it’s
diameter will be

w-

M x=3y=3 & At wfierror Tx-4y=pHpar
Lit) Tm

M x=3y=3 then the value of pis _ in the

équation 7x — 4y = .
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Each side of a regular hexagon forms an angle of
degree at the center of the circle.
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If the interest is calculated on quarterly basis in

the fixed deposit account then annual rate should
be taken .
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(Part — C) Write True or F alse:

() FaHFfifarHRcadanTady
All chords of a circle have equal length.

(i) Sl @ A, awa @ # gor d afrs s
forerar & ;
In recurring account, the higher amount of interest
is given in comparison to the saving account.

(iii)  forelt Frsger 3 3 0T E &, At e wag g
gar f
If two angles of a triangle are equal then it is an
equilateral triangle.

(iv) ) qed FLI T GEFT BATATT gt &)
Comparison of two similar ratios is caljeg
pmporﬁ()ﬂ.
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If the coordinate of a point is (0, 3), then it will be

located at the y-axis.
i A 9, 12, 15, 18 ——- &7 10 T vg FA ARG 2]
Find the 10" term of the arithmetic progression
9, 12,15, 18«
o 31 AR 21
tan 23°tan67°

Find the value of
tan23°tan67°

WG x” +2x+1 1 ETs Ffg. {2}
Factorize the polynomial x> +2x +1. |

Fraferiaa AiweE &1 T F1d P 2}
52, 83, 61, 52,97, 15, 83,52 -

Find the mode of the following data:

52, 83, 61, 52,97, 15, 83, 52

farg (0, 0) 74T (4, 3) Ao H @ aatg 1|
rind the distance between the points (0, 0) and (4, 3).

O T T s oy e faerey g

s 84 M long line segment is divided into three parts
i fhe ratio 3:5:6, then what will be length of each part.
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T ERRT X2 — 4x + 4 =0 B 5 710 By
Fl:td the nature of roots of quadratic equation
X" —4x +4=0

Rrez Fifre i wes fye 3 @ g s &1 v v fred
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Prove that the sum of an odd and an even number is
always an odd number.

20 Arft Jard A} v e v & s aitfar 22 et
The circumference of the base of the right circular
cylinder is 22 cm and its height is 20 cm. Find the
curved surface of the cylinder. |
firez R foh e aea o B & ol o ot Qe R e
¥ it 3 0T o SR g 2l
Prove that “In a right angle triangle, the square of the
hypotenuse is equal to the sum of the squares of the
remaining two sides™.
Jadn
OR
STt Q T RS 97 & A T o T RIS TR A
F Y AR TQ = 3 ol TP = 8WATWTS =4 WhE,
A TR 3K RS i wrd @ AT
Chords PQ and RS intersect each other at point T which
lies outside the circle if TQ =3 cm, TP =8 cm ang
TS - 4 cm. Then ﬁnd the lcﬂgth GfTR and RS.
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W12 TR (7, 10) o &yt @68 < W
wﬁ—ghﬁ%ﬁﬁm%ﬁaﬂymwh
One Line whose slope is > passﬂs through the point

(7, 10). Find the x—mordmate of that point whose
y-coordinate is 15.

OR
G SRR 5 WHTE 7 ST e T ST o) A R, i
frramft @ e
| 1234715
RAERAEEm |12 ] 3 | 4 | 5

HYTE T 394 foR TTC e it it mdﬁm
‘Quantity of Onion (In kg) used bya family for 5 weeks

14l

are given in fi}ilawmg table: \«
Week 1121 3 4 5
Quantity of Onion (In kgy (1| 2] 3 |3 5

Draw a graph between week and Quantity of Onion used.
m?r/ 13 P RROR & e g

4
4 0-10 | 10-20 | 20-30 3040 | 20.59 50-60 | 60-70
mum 10 11 7 4 4 3 1
| Fmdthe mean of the following table: . |
Ciass: | 010 | 1020 [ 2035 T3040" 40-50 | 5060 T6070
ey | 10 [ 11
Frequency: | 10 7 4 4 3 1
OR
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0-10

10-20

20-30

e

5

15

20

40-50

50-60

60-70

23

17

11

Find the median of the fcllo\ﬁng table:

0-10 | 10-20 | 20-30
5 15 20

Class: 30-40

23

40-50
17

50-60 | 60-70

11

Frequency: |

YR-14  TE 6l HeT§ I T, 2 e S 550 9 @t
IqHT 3T 10 Gt &
Find the height of the cone. If itsvolume is 550cm”’ and
its diameter 1s 10 cm.

[4)
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2 ey ey ATt 64 Tl ) eI G T e S
T 72 et 4 B I A
Abig sphere is made by melting down 64 small spheres
each of radius 2 cm. Find the radius of the big sphere.

W15 1Y 3 3 200 5o SRR A WA 5 T & e e
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Ravi o a recurring depostt account in 02 '

Rs, 200 per month for 5 years. If the raté f’f interest 1s

5% per a:mum then how much amount will he get after

3 yearg?
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fafta 2 2014.15 % Ty, qatardt A HR® I (T
FRrIT IR Biga) 40,000 %, ) 9% 42,000 T, AT gy
wiferes Ry & spom et & wry ,000 . 1 TR shfier
TS &Y, 3 & &1 37 e o AT R nft Fafora

TR T e it feraman € 100,000 %. 31

HARIF R Freran @
- I Gy HF H T
T 2,50,000 &. & TS AR TR
2..12,50,001 %. 6 5,00,000 5. A6 10%
3. |5,00,001 % ¥ 10,00,000%. d% 20%

Feve 39et - 37 T ET 3%,

The monthly income (excluding house rent allowance)
of a bank employee in the financial year 2014-15 was

Rs. 40,000. He deposits Rs. 42,000 annually in general
provident fund and Rs. 6,000 as semi annual premium on
Life Insurance Policy. Calculate the payable Income Tax_
All savings maximum of Rs. 1,00,000 are tax-exempt.

The rates of Tax are as follows

Bl Tax Limits Rate of Tax |
I. | UptoRs 250,000 Nl ]
.-—_—-_-_‘—'—u_._-__—__ —_—
2. |Rs.2,50,001 to Rs 5.00,000 10%
,..—-—-———-——__._‘_‘_“_*‘_
| > Rs. 50000110 Rs 10,00,000 | 20%

Education Cess : 30, of income payable tax.
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" x-1 x+1 6
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Construct an equilateral AABC with eac’h‘ side 5 cm.
Then construct another equilateral APQR where

3
AYqY
| OR
PQR T wwahivr Bivywr & fomlt £Q=90° BiaRkpQ =6
At 49T QR = 8 Wil , A WA H Rom R g A
T e i & e s efeg
PQR is a right tnangle in which ZQ=90°. IfPQ=6 cm

and QR = 8 cm, find the radius ofthe circumcircle in the
triangle. Write the step of construction also.

1 3f m%:a‘tamﬁmmwmwﬁm B
< 3 3 oI &N
Find the sum of natural numbers between | and 100
which are divisible by 3.
I
OR
gt & Y

x+1 x-1_5

x#1,-

Solve the equation
x+1 x-1 5

-
w—

x-1 x+1 6
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sin(90 - 0)
sec(90-6)+1 ' cosecd_1 - 20109

Hqr
OR
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A tree breaks due to storm and the broken part bend so
that the top of the tree touches the ground making an
angle 60° with it. The distance between the foot of the tree

to the point where the top touches the ground is 6 m. Find
the height of the tree.
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